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1
Insert the missing numbers.
42 _ 14 _ 3 _ 12
g =7 bw =71 i =
2)
Insert the missing numbers.
5 _ 12 _ 4 1 _ 4 4 _ 12
)i =@ b =— ©)ig = d5 =7
6 _ 8 _ 3 _ 8 _ 4
)11 =T i = &) 7 = a1 h) g6 =
~ 10 N 260
g5 =75 V3w =15
3)
Insert the missing numbers
2 _ 8 3 _ 4 _ 6 24
a) 5 = b5 =15 11 =3 g =
1 _ 3 1 _ 3 1 4 _
e 5 = D == g i = hy5 =715
1 _ b} _
1 =1 iz =3
4)
Insert the missing numbers
) _ 20 7 _ 28 8 _ 10 _
a)g =1 bz = 11 = 3z =717
24 _ 66 _ 22 1 _ 3 6 _
) 3% =100 leg = &3 = g =11
7 28 -\ 10 5
Vg =2 )R =2
Good Luck!
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